#### RESOLUTION NO. 13 -2/79

A RESOLUTION OF THE TOWN COMMISSION OF THE **TOWN** SURFSIDE, FLORIDA, OF AUTHORIZING AN EXPENDITURE NOT EXCEED \$80,127.20 FOR THE ABBOTT AVENUE AND 94TH STREET PARKING LOTS TO LUKES' LANDSCAPING, INC. DBA LUKES-SAWGRASS LANDSCAPE FOR A PROPOSAL TO LANDSCAPE THE ABBOTT AVENUE AND 94<sup>TH</sup> STREET **PARKING** LOTS; APPROVING AND **AUTHORIZING EXPENDITURES** FROM MUNICIPAL PARKING FUND; PROVIDING FOR AUTHORIZATION; AND PROVIDING FOR AN EFFECTIVE DATE.

WHEREAS, the Town Commission previously approved renovation of three (3) Municipal Parking Lots and delayed improving the remaining parking lots until completion of the Parking Structure Feasibility Study, that was completed in March 2013; and

WHEREAS, the Town has inventoried the remaining parking lots and identified capital maintenance and aesthetic issues at the Abbott Avenue and 94<sup>th</sup> Street parking lots; and

WHEREAS, the Town Commission adopted Resolution No. 11-2061 (incorporated by reference) authorizing the Town Administration to enter into an agreement with Lukes' Landscaping Inc. DBA Lukes-Sawgrass Landscape (hereinafter "Lukes") by piggybacking off of a competitively bid contract awarded by the City of Aventura to provide landscape maintenance services for the same price per unit of service; and

WHEREAS, the proposed renovations and improvements for both parking lots include removal and installation of landscaping and installation of irrigation, the Abbott Avenue parking lot proposal (Exhibit "A") is for \$52,703.50, and the 94<sup>th</sup> Street parking lot proposal (Exhibit "B") is for \$27,423.70 to be paid from the Municipal Parking Fund; and

WHEREAS, it is in the best interest of the Town to authorize an expenditure for the work described in the Proposals (see Exhibit "A" and Exhibit "B") for the landscaping of the Abbott Avenue and 94<sup>th</sup> Street parking lots.

NOW THEREFORE, BE IT RESOLVED BY THE TOWN COMMISSION OF THE TOWN OF SURFSIDE, FLORIDA, AS FOLLOWS:

**Section 1.** Recitals. The above-stated recitals are hereby adopted and confirmed.

Section 2. Approval and Authorization. The Town Commission approves and authorizes the Town Manager and/or his designee to take all actions necessary to implement the terms and conditions of the Proposals with Lukes not to exceed \$52,703.50 for the Abbott Avenue parking lot and not to exceed \$27,423.70 for the 94<sup>th</sup> Street parking lot to be paid from the Municipal Parking Fund.

Section 3. Effective Date. This Resolution shall be effective immediately from adoption hereof.

PASSED and ADOPTED on this 16th day of July, 2013

Motion by Gommissioner Kankin, second by Commissioner Graubart.

#### FINAL VOTE ON ADOPTION

Commissioner Joseph Graubart Commissioner Michelle Kligman Commissioner Marta Olchyk Vice Mayor Michael Karukin Mayor Daniel Dietch 100 NO YES YES

Daniel Dietch, Mayor

ATTEST:

Sandra Novoa, CMC

Town C

APPROVED AS TO FORM AND LEGAL SUFFICIENCY:

Linda Miller, Interim Town Attorney

# **EXHIBIT "A"**

### **PROPOSAL**



DATE	PROPOSAL#
5/31/2013	0513034

2711 SW 36th Street, Dania Beach, FL 33312 PHONE: 954-431-1111 FAX: 954-433-1111

Town of Surfside 9293 Harding Avenue Surfside, Florida 33154 ATTENTION: Joe Kroll

Ship To

EMAIL	DIVISION	REP	APPROVED BY:	PRO	JECT	P.O. NUMBER
lyn@lukes-sawgrass.biz	2200 - Lands	MF		0513034LN	1/Abbotpklot	
	DESCRIPTION					
LANDSCAPING OF PARKING LO	LANDSCAPING OF PARKING LOT ON ABBOTT -					
NORTHEAST CORNER OF PARK	ING LOT:					
Remove shrubs, install -	nio Bor.					
Peanut Plant (1 gal)				26	4.95	128.70
Clusia guttifera "small leaf clusia" (7	gal) - as per Ci	ty of Aventura	bid # 10-07-12-2	8	35.00	280.00
and Resolution # 2010-46	14 142					
Ficus microcarpa "Green Island Ficus	s" (3 gal) - as pe	er City of Aver	ntura bid #	22	11.00	242.00
10-07-12-2 and Resolution # 2010-46	)			_		
Palm Beach cap rocks (3 x 4) Aechmea "Hacienda" (3 gal)				2	100.00	200.00
Dianella Tasmanica "flax lily" (3 gal)				3	55.00	165.00
Dianena rasmanica max my (3 gar)				6	10.50	63.00
NORTHWEST CORNER OF PARK	ING LOT:					
Remove shrubs, install -						
Peanut Plant (1 gal)				52	4.95	257.40
Palm Beach cap rocks (3 x 4)				4	100.00	400.00
Ficus microcarpa "Green Island Ficus	s" (3 gal) - as pe	r City of Aven	tura bid #	68	11.00	748.00
10-07-12-2 and Resolution # 2010-46					110000000000000000000000000000000000000	
Dianella Tasmanica "flax lily" (3 gal)				47	10.50	493.50
Aechmea "Hacienda" (3 gal)	120			5	55.00	275.00
Clusia guttifera "small leaf clusia" (7	gal) as per bid #	# 10-07-12-2		16	35.00	560.00
NORTH CENTER MEDIAN - NOR	TH SIDE:		8			
Remove shrubs, install -	III SIDE.					
Peanut Plant (1 gal)				18	4.95	89.10
Palm Beach cap rocks (3 x 4)						
Dianella Tasmanica "flax lily" (3 gal)	20	100.00	100.00 210.00			
Ficus microcarpa "Green Island Ficus	23	11.00	253.00			
10-07-12-2 and Resolution # 2010-46		2000000 2000000 \$000000				200.00
Wodyetia bifurcata "Foxtail palm" (8'	g.w.)			1	800.00	800.00

IF APPROVED, PLEASE SIGN:

Void after 90 days

THANKagoU! www.lukes-sawgrass.biz



DATE	PROPOSAL#
5/31/2013	0513034

2711 SW 36th Street, Dania Beach, FL 33312 PHONE: 954-431-1111 FAX: 954-433-1111

Town of Surfside 9293 Harding Avenue Surfside, Florida 33154 ATTENTION: Joe Kroll

Ship To

EMAIL	DIVISION	REP	APPROVED BY:	PRO	JECT	P.O. NUMBER
lyn@lukes-sawgrass.biz	2200 - Lands	MF		0513034LM	1/Abbotpklot	
DE	SCRIPTION			QTY	COST	TOTAL
Aechmea "Hacienda" (3 gal)	2	55.00	110.00			
NORTHERN CENTER MEDIAN:						
Bursera Simaruba "gumbo limbo" (14	- 16' o.a.)			6	395.00	2,370.00
Adonidia merrillii "Christmas palm" (		uble)		3	250.00	750.00
Ficus microcarpa "Green Island Ficus'	' (3 gal) - as pe	er City of Aver	ntura bid #	72	11.00	792.00
10-07-12-2 and Resolution # 2010-46				,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		
NORTHERN CENTER MEDIAN - S	OUTH SIDE:					
Remove shrubs, install -						
Peanut Plant (1 gal)				16	4.95	79.20
Aechmea "Hacienda" (3 gal)				2	55.00	110.00
Wodyetia bifurcata "Foxtail palm" (8'	g.w.)			1	800.00	800.00
Ficus microcarpa "Green Island Ficus'		r City of Aver	ntura bid #	18	11.00	198.00
10-07-12-2 and Resolution # 2010-46						
Palm Beach cap rocks (3 x 4)				1	100.00	100.00
Dianella Tasmanica "flax lily" (3 gal)				11	10.50	115.50
CENTRAL CENTER MEDIAN - NO	RTH SIDE:					
Remove shrubs, install						
Peanut Plant (1 gal)				16	4.95	79.20
Aechmea "Hacienda" (3 gal)				2	55.00	110.00
Wodyetia bifurcata "Foxtail palm" (8'	g.w.)			1	800.00	800.00
Ficus microcarpa "Green Island Ficus" (3 gal) - as per City of Aventura bid #					11.00	198.00
10-07-12-2 and Resolution # 2010-46						
Palm Beach cap rocks (3 x 4)				1	100.00	100.00
Dianella Tasmanica "flax lily" (3 gal)				11	10.50	115.50
CENTRAL CENTER MEDIAN - SOI	JTH SIDE:					
Remove shrubs, install -						
Peanut Plant (1 gal)				16	4.95	79.20

IF	APPROVED	PI	EASE SIGN:	
LI.	ALLINOVED.	LI	LEASE SIGN:	



DATE	PROPOSAL#
5/31/2013	0513034

2711 SW 36th Street, Dania Beach, FL 33312 PHONE: 954-431-1111 FAX: 954-433-1111

Town of Surfside 9293 Harding Avenue Surfside, Florida 33154 ATTENTION: Joe Kroll

Ship To

EMAIL	DIVISION	REP	APPROVED BY:	PRO	JECT	P.O. NUMBER
lyn@lukes-sawgrass.biz	2200 - Lands	MF		0513034LN	1/Abbotpklot	
DE	SCRIPTION			QTY	COST	TOTAL
Aechmea "Hacienda" (3 gal)	2	55.00	110.00			
Wodyetia bifurcata "Foxtail palm" (8'				1	800.00	800.00
Ficus microcarpa "Green Island Ficus" 10-07-12-2 and Resolution # 2010-46	' (3 gal) - as pe	er City of Aver	ntura bid #	18	11.00	198.00
Palm Beach cap rocks (3 x 4)				1	100.00	100.00
Dianella Tasmanica "flax lily" (3 gal)				11	10.50	115.50
prairie rusmamed max my (5 gar)				11	10.50	113.50
CENTRAL CENTER MEDIAN:						
Bursera Simaruba "gumbo limbo" (14'		G! 0.		9	395.00	3,555.00
Ficus microcarpa "Green Island Ficus" 10-07-12-2 and Resolution # 2010-46	' (3 gal) - as pe	er City of Aver	ntura bid #	88	11.00	968.00
Adonidia merrillii "Christmas palm" (10'-12' c.t., double)					250.00	500.00
radinala merrimi emistinas paim (1	10-12 C.t., dot	ioic)		2	230.00	300.00
SOUTHERN CENTER MEDIAN - N	ORTH SIDE:					
Remove shrubs, install -						
Peanut Plant (1 gal)				16	4.95	79.20
Dianella Tasmanica "flax lily" (3 gal)				11	10.50	115.50
Aechmea "Hacienda" (3 gal)				2	55.00	110.00
Wodyetia bifurcata "Foxtail palm" (8' Ficus microcarpa "Green Island Ficus"	g.w.)	" City of Assor	stuma hid #	1 18	800.00	800.00
10-07-12-2 and Resolution # 2010-46	(3 gai) - as pe	i City of Aver	itura bid #	10	11.00	198.00
Palm Beach cap rocks (3 x 4)				1	100.00	100.00
					•	
SOUTHERN CENTER MEDIAN:						
Bursera Simaruba "gumbo limbo" (14' - 16' o.a.)					395.00	3,555.00
Adonidia merrillii "Christmas palm" (10'-12' c.t., double) Ficus microcarpa "Green Island Ficus" (3 gal) - as per City of Aventura bid #					250.00	750.00
10-07-12-2 and Resolution # 2010-46	(3 gal) - as pe	r City of Aven	itura bid #	96	11.00	1,056.00
SOUTHERN CENTER MEDIAN - SO	OUTHSIDE:					
Remove shrubs, install -						

IF	APPROV	ED. P	LEAS	SE	SIGN:



DATE	PROPOSAL#
5/31/2013	0513034

2711 SW 36th Street, Dania Beach, FL 33312 PHONE: 954-431-1111 FAX: 954-433-1111

Town of Surfside 9293 Harding Avenue Surfside, Florida 33154 ATTENTION: Joe Kroll

Ship To

EMAIL	DIVISION	REP	APPROVED BY:	PRO	JECT	P.O. NUMBER
lyn@lukes-sawgrass.biz	2200 - Lands	MF		0513034LN	1/Abbotpklot	
DE	DESCRIPTION					
MISCELLANEOUS: Yards of topsoil - as per City of Avent Cubic yards of sand - as per City of Av 2010-46	12 6	35.00 50.00	420.00 300.00			
RRIGATION: Installation of irrigation system				1	5,976.00	5,976.00

# **EXHIBIT** "B"

### **PROPOSAL**



DATE	PROPOSAL#
5/31/2013	0513036

2711 SW 36th Street, Dania Beach, FL 33312 PHONE: 954-431-1111 FAX: 954-433-1111

Town of Surfside 9293 Harding Avenue Surfside, Florida 33154 ATTENTION: Joe Kroll

Ship To

EMAIL	DIVISION	REP	APPROVED BY:	PRO	JECT	P.O. NUMBER
lyn@lukes-sawgrass.biz	2200 - Lands	MF		0513036LM	/hardingpklot	
DE	SCRIPTION			QTY	COST	TOTAL
HARDING AVENUE AND 94TH ST	TREET PARK	ING LOT:				
NORTHWEST CORNER OF PARK	NG LOT:					
Remove shrubs and palms, install -	o Bo I.				0.00	0.00
Peanut Plant (1 gal)				18	4.95	89.10
Aechmea "Hacienda" (3 gal)				4	55.00	220.00
Palm Beach cap rocks (3 x 4)				3	100.00	300.00
Ficus microcarpa "Green Island Ficus'	' (3 gal) - as pe	er City of Aver	ntura bid #	68	11.00	748.00
10-07-12-2 and Resolution # 2010-46						
Clusia guttifera "small leaf clusia" (7 g	gal) - as per Cit	ty of Aventura	bid # 10-07-12-2	22	35.00	770.00
and Resolution # 2010-46				15	10.50	
Dianella Tasmanica "flax lily" (3 gal)	Dianella Tasmanica "flax lily" (3 gal)					157.50
NORTH SIDE OF PARKING LOT:						
Remove shrubs and palms, install -					0.00	0.00
Clusia guttifera "small leaf clusia" (7 g	gal) - as per Cit	y of Aventura	bid # 10-07-12-2	14	35.00	490.00
and Resolution # 2010-46						
Palm Beach cap rocks (3 x 4)				3	100.00	300.00
Ficus microcarpa "Green Island Ficus"	(3 gal) - as pe	r City of Aven	tura bid #	32	11.00	352.00
10-07-12-2 and Resolution # 2010-46						
Aechmea "Hacienda" (3 gal)				4	55.00	220.00
Dianella Tasmanica "flax lily" (3 gal)				15	10.50	157.50
Peanut Plant (1 gal)				56	4.95	277.20
Thrinax radiata Key thatch palm" (8', double)					495.00	495.00
NORTHEAST CORNER OF PARKIN	NG LOT:					
Remove shrubs and palms, install -	.c Lo1.				0.00	0.00
Palm Beach cap rocks (3 x 4)	1	100.00	100.00			
Ficus microcarpa "Green Island Ficus"	(3 gal) - as pe	r City of Aven	tura bid #	32	11.00	352.00
10-07-12-2 and Resolution # 2010-46			connections of the fitting of		50	322.00
Aechmea "Hacienda" (3 gal)				2	55.00	110.00

IF APPROVED, PLEASE SIGN:

Void after 90 days

THANIFaYQU! www.lukes-sawgrass.biz



DATE	PROPOSAL#		
5/31/2013	0513034		

2711 SW 36th Street, Dania Beach, FL 33312 PHONE: 954-431-1111 FAX: 954-433-1111

Town of Surfside 9293 Harding Avenue Surfside, Florida 33154 ATTENTION: Joe Kroll

Ship To

EMAIL	DIVISION	REP	APPROVED BY:	PRO	JECT	P.O. NUMBER
lyn@lukes-sawgrass.biz	2200 - Lands	MF		0513034LM	1/Abbotpklot	
DESCRIPTION					COST	TOTAL
Dianella Tasmanica "flax lily" (3 gal)					10.50	115.50
Palm Beach cap rocks (3 x 4)					100.00	300.00
Wodyetia bifurcata "Foxtail palm" (8' g.w.)					800.00	800.00
Ficus microcarpa "Green Island Ficus" (3 gal) - as per City of Aventura bid #					11.00	198.00
10-07-12-2 and Resolution # 2010-46						
	Peanut Plant (1 gal)					237.60
Aechmea "Hacienda" (3 gal)				4	55.00	220.00
SOUTHWEST CORNER OF PARK	ING LOT:					
Remove shrubs, install -				_		
Peanut Plant (1 gal)				52	4.95	257.40
Palm Beach cap rocks (3 x 4)				4	100.00	400.00
Aechmea "Hacienda" (3 gal)	ty or			5	55.00	275.00
Clusia guttifera "small leaf clusia" (7 and Resolution # 2010-46	gal) - as per Cit	ty of Aventura	bid # 10-07-12-2	16	35.00	560.00
				47	Name of States	
Dianella Tasmanica "flax lily" (3 gal)					10.50	493.50
Ficus microcarpa "Green Island Ficus" (3 gal) - as per City of Aventura bid # 10-07-12-2 and Resolution # 2010-46					11.00	748.00
10 07 12 2 and Resolution # 2010-40						
WEST SIDE OF PARKING LOT:						
Remove shrubs, install -					0.00	0.00
	Buttonwood" (	3 gal) - as per	City of Aventura	315	9.00	2,835.00
Conocarpus erectus 'Sericeus', "Silver Buttonwood" (3 gal) - as per City of Aventura bid # 10-07-12-2 and Resolution # 2010-46				313	9.00	2,655.00
Thrinax morrisii "Key thatch palm" (8' o.a.)				32	350.00	11,200.00
	,			32	330.00	11,200.00
ENTRY DRIVES:						
Remove palms and stumps, install -					0.00	0.00
Veitchia montgomeriana "Montgomery palm (14' - 16, g.w.', single)					395.00	1,580.00
Ficus microcarpa "Green Island Ficus" (3 gal) - as per City of Aventura bid #				46	11.00	506.00
10-07-12-2 and Resolution # 2010-46				600.000		

IF APPROVED, PLEASE SIGN:

Void after 90 days

THANK-YQU! www.lukes-sawgrass.biz



DATE	PROPOSAL#		
5/31/2013	0513036		

2711 SW 36th Street, Dania Beach, FL 33312 PHONE: 954-431-1111 FAX: 954-433-1111

Town of Surfside 9293 Harding Avenue Surfside, Florida 33154 ATTENTION: Joe Kroll

Ship To

EMAIL	DIVISION	REP	APPROVED BY:	PRO	JECT	P.O. NUMBER
lyn@lukes-sawgrass.biz	2200 - Lands	MF		0513036LM	/hardingpklot	
DESCRIPTION					COST	TOTAL
Clusia guttifera "small leaf clusia" (7 gal) - as per City of Aventura bid # 10-07-12-2					35.00	280.00
and Resolution # 2010-46 Peanut Plant (1 gal)					4.95	128.70
SOUTHWEST CORNER OF PARK	ING LOT:					
Remove shrubs, install -					0.00	0.00
Palm Beach cap rocks (3 x 4)				1	100.00	100.00
Ficus microcarpa "Green Island Ficu	s" (3 gal) - as pe	er City of Aver	ntura bid #	32	11.00	352.00
10-07-12-2 and Resolution # 2010-46	5					
Aechmea "Hacienda" (3 gal)				2	55.00	110.00
Clusia guttifera "small leaf clusia" (7	gal) - as per Cit	ty of Aventura	bid # 10-07-12-2	8	35.00	280.00
and Resolution # 2010-46						
Peanut Plant (1 gal)				26	4.95	128.70
CENTER MEDIAN:						
Bursera Simaruba "gumbo limbo" (12' - 14' o.a.)					245.00	2,940.00
Conocarpus e. sericeus "silver buttonwood" (12' - 14' o.a.)					425.00	3,400.00
Ficus microcarpa "Green Island Ficus" (3 gal) - as per City of Aventura bid #					11.00	1,804.00
10-07-12-2 and Resolution # 2010-46						
WEST PLANTER ALONG SIDEWA	ALK WITHIN	ГНЕ СОСОРІ	LUM:			
Thrinax radiata "Thatch palm" (10', d	ouble)		College State (State State Sta	15	525.00	7,875.00
(FILL-IN) - Chrysoalanus icaco "red tip Cocoplum (3 gal) - as per City of Aventura					9.00	612.00
bid # 10-07-12-2 and Resolution #20	10-46				40 100000000	
MISCELLANEOUS AND LABOR (	to remove shrub	os):				
Yards of topsoil - as per City of Aven	tura bid # 10-07	7-12-2 and Res	solution # 2010-46	12	35.00	420.00
IRRIGATION:						
Installation of irrigation system				1	3,855.00	3,855.00
E ADDDOVED DIFLOR GION						

IF APPROVED, PLEASE SIGN:

Void after 90 days

THANKaKQU! www.lukes-sawgrass.biz TOTAL

\$27,423.70